Forecasting of Southeast Sulawesi Nickel Ore Production using Arima & Holt-Winter Method

Agustino Gerson Togar Manurung, SugiyonoSugiyono FAKULTAS EKONOMI DAN BISNIS UNIVERSITAS MERCU BUANA DKI Jakarta, Indonesia

Abstract:- Nickel is an important metal element in the battery cell components used for electric cars. For the manufacture of batteries, three main raw materials are needed, namely nickel, lithium and cobalt. For nickel, Indonesia controls 30 percent. Compared to some other countries.From the results of experiments conducted by the author, it was found that the most accurate forecasting for nickel ore production data is the ARIMA forecasting method. The results obtained from nickel ore forecasts that there will be a decline after 2020. This is not a good thing for the government's plan to increase electric battery vehicles that use nickel. The decline in nickel production was due to the excavation that was exhausted in 2018 and 2019 resulting in production of 20,219,885/ton & 23,967,427/ton. Therefore, to stabilize nickel ore production, it is necessary to control nickel ore production targets so that production and demand for nickel are not unequal but should be statistically parallel.Forecasting using the ARIMA time series method, getting the error valueMAPE = 3.940710675%, and The Winter's method model with the smallest error percentage value of 15.27%.

Keywords:- Forecasting, ARIMA, Nickel, HOLT-WINTER, ESDM.

I. INTRODUCTION

Nickel is a mineral that is highly sought after by investors in the mining sector. The function of the nickel mineral itself is very much, one of which is in the manufacture of stainless steel, it can also be used as a Physics and Chemistry laboratory tool and many more. Nickel is hard but malleable, resists rust, and its mechanical and physical properties persist even when exposed to extreme temperatures. This metal is of high quality because it is useful for coatings and batteries. Nickel also serves to give a brilliant metallic finish such as in faucets and showers in bathrooms. Even in today's time, almost no one can not escape from nickel. This is because this metal is used as one of the main ingredients for making rechargeable lithium batteries in gadgets. Nickel is also very valuable in the future with the rapid trend of electric vehicles in the world.

At present and in the future, the demand for nickel is increasing in addition to other needs whose supply is increasingly limited. This is because Nickel is a mineral that has high economic value. Therefore, the storage area which we usually call the stockyard can greatly determine the amount of nickel that will be produced.

Starting January 1, 2020, the Government officially stopped nickel exports. The decision to ban exports is

contained in the Minister of Energy and Mineral Resources Regulation (Permen) Number 11 of 2019 Second Amendment to the Regulation of the Minister of Energy and Mineral Resources Number 25 of 2018 concerning Mineral and Coal Mining Concessions. This policy was born from consideration of the domestic nickel stock which estimates that there are only 700 million tons left. Of the remaining amount, it is predicted that it will run out in 8 years if mining continues.

According to data from the Badan Pusat Statistika(BPS) for 2004-2014, three of the six export destinations for Indonesia's nickel are Switzerland, Greece and Ukraine. These three countries are part of the European Union. The following is data on the number of Indonesian nickel exports to the three countries. In 2004, there were 258,350 tons of nickel exported worth USD 6.92 million. In 2005, there were 582,787 tons of nickel worth USD 21.35 million. In 2006, there were 914,664 tons worth USD 51,45 million. In 2007, there were 983,167 tons of nickel valued at USD 86.82 million. In 2008, there were 1,603,733 tons of nickel worth USD 103.8 million. In 2009, there were 922,170 tons of nickel worth USD 42.30 million. In 2010, there were 921,096.6 tons of nickel valued at USD 67.9 million. In 2011. there were 1.283.671.5 tons of nickel worth USD 85.06 million. In 2012, there were 1,844,640.7 tons of nickel valued at USD 93.17 million. In 2013 there were 1.941.139.7 tons of nickel worth USD 90.93 million. In 2014 there were 38,532.8 tons of nickel valued at USD 1.67 million. This is a new challenge for Indonesia where Indonesia has to process its own nickel ore. The depletion of nickel in nature has forced the government to take steps to downstream and industrialize the raw materials of its natural resources. For this reason, the government has decided to stop the export of nickel ore by 2020.

Southeast Sulawesi Province has unstable nickel ore & nickel ore production in a decade (2003 - 2013). Nickel production is important because of the increasing demand for nickel, expansion is expected to increase capacity so that it can be a reserve if production is interrupted one day, so that delivery can still run with the existing backup. In this thesis, we will look for the most accurate forecasting technique, with stable production without worrying about shortage of reserves. From the description above, it is necessary to conduct research on forecasting to achieve the target and stabilize the production value.

	Pr	oduksi	Nilai Produl	ksi (Juta Rp)
Tahun	Bijih Nikel	Ferro Nikel (Ton	Bijih Nikel	Ferro Nikel
	(Ton)	Ni)	,	
2001	700.740	9.302	165.051	604.163
2002	969.689	n.a	96.534	n.a
2003	1.702.267	8.279.135	287.280	628.337
2004	1.426.672	7.441.235	n.a	n.a
2005	1.157.657	9.892.440	410.506	925.409
2006	1.486.442	n.a	622.492	n.a
2007	2.499.935	1.712.147	1.204.647	245.511
2008	1.782.356	n.a	303.753	n.a
2009	1.026.975	n.a	140.673	n.a
2010	230.870	3.206	37.241	2.149.516
2011	1.943.383	19.690	213.414	2.571.059
2012	18.778.406	.17.250	5.351.845,72	2.932.500,00
2013	29.431.004	.15.535	8.387.836,14	2.563.275,00
2014	1.387.140	16.851	138.714,00	1.152,61.
2015	n.a	n.a	n.a	n.a
2016	n.a	3.957	744.324,73	1.616.600,59
2017	9.043.233	15.821	4.058.801,55	2.458.839,11
2018	20.220.717	n.a	n.a	n.a
2019	23.967.146	n.a	n.a	n.a

Table 1: Production Nickel Sulawesi Tenggara

Source: Badan Pusat Statistik Sulawesi Tenggara

The data shows an upward trend in the value of nickel production, Indonesia is one of the countries with the highest production in the world, this is one of the reasons the Indonesian government has closed nickel exports. If Indonesia can process nickel ore itself, it will increase the selling value of Indonesian nickel ore. Nickel ore is one of the results of the refining of nickel ore.

II. LITERATURE QUERY

A. Definition of Forecasting

Forecasting is an activity to predict what will happen in the future. Forecasting is necessary because there is a time difference between awareness of the need for a new policy and the time of implementation of the policy. If the time difference is long, then the role of forecasting becomes important and very much needed, especially in determining when an event occurs so that actions can be prepared that need to be taken. [1]

While the forecast is a situation or condition that is expected to occur in the future. The forecast can be based on various methods known as forecasting methods. Forecasting method is a way of predicting quantitatively what will happen in the future, based on relevant data in the past. The forecasting method will assist in conducting an analytical approach to behavior or patterns from past data, so that it can provide a systematic and pragmatic way of thinking, working and solving, as well as providing a greater level of confidence in the accuracy of the predictions made or compiled.

B. Function of Forecasting

There is often a time lag between awareness of an upcoming event or need and the event itself. The existence of

ISSN No:-2456-2165

this lead time is the main reason for planning and forecasting. In the above situation forecasting is necessary to determine when an event will occur or a need will arise, so that actions can be prepared that need to be taken.

In planning in an agency, be it government or private, forecasting is a very basic requirement. Where good or bad forecasts can affect all parts of the agency, because the grace period for decision making can range from several years. Forecasting is an important tool in effective and efficient planning. The usefulness of a forecast can be seen at the time of decision making. A good decision is a decision that is based on consideration of what will happen when the decision is made. If the decision taken is not appropriate, the decision should not be implemented. Because the problem of decision making is a problem that is always faced, forecasting is also a problem that is always faced because forecasting is related to making a decision.

Whether or not a forecast is prepared, besides being determined by the method used, it is also determined by whether or not the information or data used or the accuracy of the forecast made. As long as the data and information used cannot be used, the forecasting results compiled will also be difficult to believe in their accuracy.

Therefore, the accuracy of the prediction is very important, however it should be realized that a prediction is still a prediction, where there is always an element of error.

So the important thing to note is to minimize the error.

Within the Organization section there are several important roles in forecasting:

- Scheduling of available resources. Efficient use of resources requires scheduling production, transportation, cash, personnel, and so on. Important inputs for such scheduling are forecasts of the level of customer or customer demand, materials, labor, finance or services.
- Provision of additional resources. Lead times for acquiring raw materials, hiring new workers or purchasing machinery and equipment can range from a few days to several years. Forecasting is needed to determine future resource requirements.
- Determination of the desired resource. Every organization must determine the resources it wants to have in the long term. Such decisions depend on market opportunities, environmental factors and internal development of financial, human, product, and technological resources. All of these decisions require good forecasts and managers who can interpret forecasts and make informed decisions.

Although there are many other fields that require forecasting, the three groups above are typical forms of the use of short, medium, and long-term forecasting.

From the description above, it can be said that the forecasting method is very useful, because it will help in conducting an analysis of data from the past. So that the forecasting method will provide a way of thinking, orderly and directed work and systematic planning to provide accurate analysis results.

C. Meaning of Time Series

Periodic data (time series) is data that is compiled based on time sequences or data collected from time to time. The time used can be in the form of weeks, months, years and so on. Time Series is a series of observational data originating from one fixed source and occurring based on a time index t in succession with fixed time intervals. Each observation can be expressed as a random variable Zt with the notation Zt1, Zt2, ...,Ztn

Periodic data or time series is data that is usually used to describe a development or trend of circumstances/events/activities. Usually the distance or interval from time to time is the same.

Examples of periodic data are as follows:

- a) the economic growth of a country per year;
- b) the amount of oil production per month;

c) stock price index per day.

Time series, periodic data or time series are a series of observations of an event, occurrence, symptom, or variable taken from time to time, carefully recorded in the order in which they occur, and then compiled as statistical data. In general, observations and recordings are carried out within a certain period of time, for example at the end of each year, at the beginning of each year, every ten years, and so on .

Data movement patterns or variable values from time series data can be known. So that time series data can be used as the basis for:

a) current decision making.

b) forecasting the state of trade or the economy in the future.

c) planning activities for the future.

Identify Time Series Models

The formation of the ARIMA model can be seen from the results of the ACF and PACF plots. The ACF and PACF plot patterns in the model formation are as follows.

÷			
	Proses	ACF	PACF
	AR(p)	Menurun secara cepat	Cuts off setelah lag
		(dies down)	ke- p
	MA(q)	Cuts off setelah lag ke- p	Menurunsecara cepat
			(dies down)
	ARMA(p,q)	Menurun secara cepat	Menurun secara cepat
		(dies down)	(dies down)

Table 2: Plot ACF and PACF

D. Autoregressive Integrated Moving Average (ARIMA) Method

The Autoregressive Integrated Moving Average (ARIMA) model is a model that completely ignores the independent variables in making forecasts. ARIMA uses past and present values of the dependent variable to produce accurate short-term forecasts. ARIMA has very good

accuracy for short-term forecasting, while for long-term forecasting the forecasting is not good. Usually it will tend to be flat (flat/constant) for a fairly long period.

The general form of the autoregressive integrated moving average (ARIMA p,d,q) model is:

$$(1-B)(1-\phi_1 B)X_t = \mu' + (1-\theta_t B)e_t$$

Keterangan :

(1 - B) = Pembedaan Pertama $(1 - \emptyset_1 B) X_t = \text{AR} (1)$ $\mu' + (1 - \theta_t B) e_t = \text{MA} (1)$ Fig. 1: ARIMA Method

The AR, MA, and ARMA models that have been discussed previously use the assumption that the time series data analyzed are stationary. The mean and variance of time series data are constant and the covariance is not affected by time. ARIMA is also known as the Box Jenkins time series method. The ARIMA model consists of three basic steps, namely the identification stage, the assessment and testing stage, and the diagnostic examination stage. Furthermore, the ARIMA model can be used for forecasting if the model obtained is adequate.

E. Triple Exponential Smoothing (Winters Method)

This method is used when the data shows seasonal trends and behavior. To deal with seasonality, a third equation parameter has been developed called the Holtn Winters method after the name of the inventor. There are two Holt-Winters models depending on the type of seasonality, namely the Multiplicative seasonal model and the Additive seasonal model. The exponential smoothing method that has been discussed previously can be used for almost any type of stationary or non-stationary data as long as the data does not contain seasonal factors. However, if there is seasonality, this method is used as a way to predict data containing seasonal factors, but this method alone cannot solve the problem well. However, this method can handle seasonal factors directly. The formula used for triple exponential smoothing is:

Trend smoothing: Bt =g (St - St - 1) + (1 - g) bt - 1Seasonal Smoothing: I = b t X t S + (1-b) t - L + m

For ecasting: Ft + m = (St + bt m)It - L + m

Where L is the seasonal length (i.e., the number of quarters in a year), b is the trend component, I is the seasonal adjustment factor, and Ft + m is the forecast for m periods ahead can be hypothesized either as a function of time or as a function of the independent variables. , then tested. An important step in choosing the right time series model is to consider the type of data pattern, so that the most appropriate

method with that pattern can be tested. Data patterns can be divided into four types of cyclical and trend.

The exponential smoothing method is a procedure that repeats calculations continuously using the latest data based on the average calculation of smoothing past data exponentially. The method proposed by Winter is based on 3 (three) smoothing parameters, namely one for stationary elements, one for trend, and one for seasonality. The advantages of the refining method are that it can provide accuracy in short-term forecasts and adjustments can be made quickly and at low costs. [6]

Ord et al. (1997:1621) stated that the problem that arises in the WES method is that each parameter can have a value between 0 (zero) to 1 (one) so it is necessary to use a random value to fill in the parameter or by doing trial and error, the number of which can be very large. Makridakis et al. (1991:110) stated that to reduce doubts about the optimal parameter values, a small value was set for each parameter. The parameter values used in this study were 0.1 and 0.2.

III. RESEARCH RESULTS AND ANALYSIS

A. Missing Data Analysis

The Southeast Sulawesi ESDM data for Nickel Ore has some missing data, first it is necessary to calculate the missing data using the Basic Statistics Minitab, the results are as shown below.

3 265	sion											
	23 0.1168 24 0.1145	15 -0.230357 06 -0.350201	0.463986 0.579214									
Tim	e Series F	Plot for ft2			ſ	Disp	lav Descripti	ve Statistics			x	1
Des Vari biji	criptive S able B h nikel	itatistics: biji 2	h nikel			Mean SE of me Standard Yariance Coefficier	an I deviation nt of variation	☐ Trimn ☐ Sym ☐ Minim ☐ Mayin ☐ Bang	ned mean num num je	□ <u>N</u> nonmissi <mark> N missing N total □<u>Q</u>umulative □<u>P</u>ercent □Cumulative</mark>	ng IN : percent	
<	rksheet 1 ***					Erst quar	rtle	E Sumo E Ske <u>w</u>	of squares ness	Check statistic	5	
+	C3	C4	C5	C6	C7		rtle ranne	E Moor	1	Citt		C14
	feronikel	bijih nikel (Rp)	feronikel (Rp)	feronikel_M	feronikel (Rp)_M	☐ Mode	are to the		-	N AL		BT4
1	9302	165051	604163	9302	604163							2.47757
2		96534		18271	1883058	Help			9	× _	Cancel	2.49828
3	8279135	287280	628337	8279135	628337							2.53341
4	7441235	*	*	7441235	1883058	0.034600	0.034600	1426672	14.1709	3./6442	z.52248	2.52248
5	9892440	410506	925409	9892440	925409	0.032567	0.032567	1157657	13.9619	3.73656	2.50943	2.50944
6		622492		18271	1883058	0.124148	0.124148	1486442	14.2119	3.76987	2.52502	2.52503
7	1712147	1204647	245511	1712147	245511	0.047286	0.047286	2499935	14.7318	3.83820	2.55688	2.55689
8	•	303753		18271	1883058	0.124148	0.124148	1782356	14.3934	3.79387	2.53623	2.53624
9	*	140673		18271	1883058	0.124148	0.124148	1026975	13.8421	3.72050	2.50190	2.50190
	2205	1714	3110712	2207	2140510	A 170751	A 130331	330030	10.0404		2.000	2.00124

Fig.2: Missing Data N Missing Minitab

In Figure 4.3 it can be seen that N missing = 2, meaning that there are 2 missing values from the Southeast Sulawesi Nickel Ore data.

B. Replacing missing data using Median

To perform more accurate forecasting, it is not possible to delete data for missing data, therefore we will use the median to replace missing data.

131	h nikel	2				Disp	lav Descriptio	ve Statistics			×		
Des	criptive S	tatistics: biii	h nikel			Display Desci	riptive Statist	ics: Statistics			×		
Tari	able h nikel l	Median 702267				E Standard	an I deviation nt of variation	☐ Trimm ☐ Sym ☐ Minim ☐ Maxin ☐ Bange	ed mean um tum t	<u>N</u> nonmiss <u>N</u> missing <u>N</u> total <u>Qumulative</u> <u>Percent</u> <u>Cumulative</u>	ing e N e percent		
l Wa	orksheet 1 ***					Mgdian	rae	☐ Skew	ress	Check statistic Oefault	3		
÷	C3	C4	C5	C6	C7	Third qua	rtle	E Kurto	sks	C None		C14	
	feronikel	bijih nikel (Rp)	feronikel (Rp)	feronikel_M	feronikel (Rp)_N	Mode	are range	i haag		C AI		BT4	
1	9302	165051	604163	9302	604163							2.47757	
2		96534		18271	1883058	Help			9	× _	Cancel	2.49828	
3	8279135	287280	628337	8279135	628337	0.000						2.53341	
4	7441235			7441235	1883058	0.034600	0.034600	1426672	14.1709	3./6442	2.52248	2.52248	
5	9892440	410506	925409	9892440	925409	0.032567	0.032567	1157657	13.9619	3.73656	2.50943	2.50944	
6	*	622492		18271	1883058	0.124148	0.124148	1486442	14.2119	3.76987	2.52502	2.52503	
	1712147	1204647	245511	1712147	245511	0.047286	0.047286	2499935	14.7318	3.83820	2.55688	2.55689	
7		202762		18271	1883058	0.124148	0.124148	1782356	14.3934	3.79387	2.53623	2.53624	
7 8		303/33											
7 8 9	-	140673	•	18271	1883058	0.124148	0.124148	1026975	13.8421	3.72050	2.50190	2.50190	

Fig. 3: Median Calculation using Minitab

the median value of Nickel Ore production data (Median = 1702267) is obtained. This value will be used to replace the missing value.

C. Calculation of ARIMA forecasting for Nickel Ore production

Production and production value of Nickel Ore will be calculated using the Minitab program. First, the researcher will use ARIMA forecasting.

Tahun	bijih nikel
2001	700740
2002	969689
2003	1702267
2004	1426672
2005	1157657
2006	1486442
2007	2499935
2008	1782356
2009	1026975
2010	230870
2011	1943383
2012	18778406
2013	29431004
2014	1387140
2015	1702267
2016	1702267
2017	9043233
2018	20220717
2019	23967146

Table 3: Data after analysis missing data

The data is processed from BPS data from Southeast Sulawesi

ISSN No:-2456-2165

D. First Rounded Value Check



Fig. 4: First Rounded Value Check

Because the Rounded Value is still not at a value of 1, the data is not stationary, it is necessary to do a transformation. This transformation will be used for the ARIMA difference value.



Fig. 5: The result of the 2nd transformation stationary data

After four times the differentiation is obtained rounded value = 1, then the data can be called stationary. From the number of differentiations, we get i = 4 for the formula/model from ARIMA, the next is an experiment to find the Arima model with the smallest error value. The following is the data from the 4 box-cox transformations.

bijih_M	BT1	BT2	BT3	BT4
700740	13.45989	3.668773	2.477567	2.477571
969689	13.78473	3.712779	2.498273	2.498276
1702267	14.34747	3.787806	2.533403	2.533407
1426672	14.17086	3.76442	2.522476	2.522479
1157657	13.96191	3.736564	2.509433	2.509436
1486442	14.2119	3.769867	2.525023	2.525026
2499935	14.73178	3.838199	2.556882	2.556885
1782356	14.39345	3.79387	2.536233	2.536237
1026975	13.84213	3.720501	2.501898	2.501902
230870	12.34961	3.514201	2.404237	2.40424
1943383	14.47994	3.805252	2.541542	2.541545
18778406	16.74822	4.092459	2.673955	2.673959
29431004	17.19756	4.146994	2.698776	2.69878
1387140	14.14275	3.760685	2.520729	2.520732
1702267	14.34747	3.787806	2.533403	2.533407
1702267	14.34747	3.787806	2.533403	2.533407
9043233	16.01753	4.00219	2.63265	2.632653
20220717	16.82222	4.10149	2.678073	2.678076
23967146	16.99219	4.122159	2.687485	2.687489

Table 4: Nickel Ore Box-Cox Transformation

The data is processed from BPS data from Southeast Sulawesi.

E. ARIMA model experiment

ARIMA model (p,d,q) where p and q are lag levels and d are differencing levels (transformations).

ijih Nikel tansformasi rounded value = :	Forecasting ARIMA	Selisih Error	[Selisih Error]	Error^2	%Error	Tahun	bijih nike
2.477570504						2001	700740
2.49827605						2002	969689
2.533406501						2003	1702267
2.522478918						2004	1426672
2.509435915	2.45805	0.051386	0.051386	0.002640521	2.047711189	2005	1157657
2.525026066	2.43551	0.089512	0.089512	0.008012398	3.544993107	2006	1486442
2.556885059	2.52523	0.031658	0.031658	0.001002229	1.23814717	2007	2499935
2.536236692	2.58673	-0.050489	0.050489	0.002549139	1.990705369	2008	1782356
2.501901502	2.47056	0.031339	0.031339	0.000982133	1.252607266	2009	1026975
2.404239936	2.40662	-0.002384	0.002384	5.68346E-06	0.099158157	2010	230870
2.541545283	2.24301	0.298536	0.298536	0.089123743	11.74623966	2011	1943 383
2.673959079	2.75353	-0.079575	0.079575	0.006332181	2.975924375	2012	18778406
2.698780314	2.9216	-0.222822	0.22282.2	0.049649644	8.256396375	2013	29431004
2.520732134	2.64376	-0.123024	0.123024	0.015134905	4.880486838	2014	1387140
2.533406501	2.15302	0.380388	0.38038.8	0.144695031	15.01488213	2015	1702.26
2.533406501	2.52178	0.011627	0.011627	0.000135187	0.458947271	2016	170226
2.632653453	2.62536	0.007292	0.007292	5.31733E-05	0.276982904	2017	9043233
2.678076353	2.7681	-0.090021	0.090021	0.00810378	3.361405283	2018	202 20717
2.687489182	2.74033	-0.052838	0.052838	0.002791854	1.96607303	2019	23967146
		Jumlah	1.522891	0.331211601	59.11066012		
			0.101526067	0.022080773	3.940710675		
			MAD	MSE	MAPE		

Table 5: Model ARIMA (1,4,0)

The data is processed from BPS data from Southeast Sulawesi

MAD	= 0.101526067
MSE	= 0.022080773
MAPE	= 3.940710675%

Bijih Nikel tansformasi rounded value = 1	Forecasting ARIMA	Selisih Error	[Selisih Error]	Error^2	%Error	Tahun	bijih nike
2.477570504						2001	700740
2.49827605						2002	969689
2.533406501						2003	1702267
2.522478918						2004	1426672
2.509435915	2.41881	0.09062.9	0.090629	0.008213616	3.611528769	2005	1157657
2.525026066	2.45495	0.070072	0.070072	0.004910085	2.775100065	2006	1486442
2.556885059	2.53562	0.021267	0.021267	0.000452285	0.831754244	2007	2499935
2.536236692	2.57311	-0.036873	0.036873	0.001359618	1.453846958	2008	1782356
2.501901502	2.42818	0.073719	0.073719	0.005434491	2.946518875	2009	1026975
2.404239936	2.42497	-0.02073	0.02073	0.000429733	0.862226756	2010	230870
2.541545283	2.21266	0.328887	0.328887	0.108166659	12.94043439	2011	1943383
2.673959079	2.90994	-0.235983	0.235983	0.055687976	8.825228549	2012	18778406
2.698780314	2.77843	-0.079654	0.079654	0.00634476	2.951481438	2013	29431004
2.520732134	2.58649	-0.065759	0.065759	0.004324246	2.608726216	2014	1387140
2.533406501	2.10495	0.428452	0.428452	0.183571116	16.91209049	2015	1702 267
2.533406501	2.73675	-0.203344	0.203344	0.041348782	8.026505019	2016	1702 267
2.632653453	2.50416	0.128494	0.128494	0.016510708	4.880779118	2017	9043233
2.678076353	2.82501	-0.146938	0.146938	0.021590776	5.486699431	2018	202 20717
2.687489182	2.6516	0.035885	0.035885	0.001287733	1.335261189	2019	23967146
		Jumlah	1.966686	0.459632585	76.44818151		
			0.1311124	0.030642172	5.096545434		
			MAD	MSE	MAPE		

The data is processed from BPS data from Southeast Sulawesi

With the ARIMA model (0,4,1) by using the minitab the researcher gets the Error value:

MAD	= 0.1311124
MSE	= 0.030642172
MAPE	= 5.096545434 %

From these results, this model cannot be used because the MAPE exceeds 5%

Bijih Nikel tansformasi rounded value = 1	Forecasting ARIMA	Selisih Error	[Selisih Error]	Error^2	%Error	Tahun	bijih nike
2.477570504						2001	700740
2.49827605						200.2	969689
2.533406501						2003	1702267
2.522478918						2004	1426672
2.509435915	2.458049626	0.051386289	0.051386289	0.002640551	2.047722711	2005	1157657
2.525026066	2.435514243	0.089511823	0.089511823	0.008012367	3.544986115	2006	1486442
2.556885059	2.52522689	0.031658169	0.031658169	0.00100224	1.238153765	2007	2499935
2.536236692	2.586725322	-0.05048863	0.05048863	0.002549102	1.990690788	2008	1782356
2.501901502	2.47056206	0.031339442	0.031339442	0.000982161	1.252624943	2009	1026975
2.404239936	2.406624261	-0.002384326	0.002384326	5.68501E-06	0.0991717	2010	230870
2.541545283	2.243008784	0.298536499	0.298536499	0.089124041	11.7462593	2011	1943383
2.673959079	2.753534094	-0.079575016	0.079575016	0.006332183	2.975924967	2012	18778406
2.698780314	2.921601882	-0.222821568	0.222821568	0.049649451	8.256380385	2013	29431004
2.520732134	2.643756256	-0.123024123	0.123024123	0.015134935	4.880491715	2014	1387140
2.533406501	2.15301868	0.380387822	0.380387822	0.144694895	15.0148751	2015	1702267
2.533406501	2.521779749	0.011626753	0.011626753	0.000135181	0.458937505	2016	1702267
2.632653453	2.625361353	0.007292101	0.007292101	5.31747E-05	0.276986733	2017	9043233
2.678076353	2.768097247	-0.090020894	0.090020894	0.008103761	3.361401339	2018	20220717
2.687489182	2.74032724	-0.052838058	0.052838058	0.00279186	1.966075185	2019	23967146
		Jumlah	1.522891513	0.331211588	59.11068225		
			0.101526101	0.022080773	3.94071215		
			MAD	MSE	MAPE		

Table 7: Model ARIMA (1,4,1)

The data is processed from BPS data from Southeast Sulawesi

With the ARIMA model (1,4,1) using the minitab the researcher gets the Error value:

MSE = 0.022080773 MAD = 0.101526101 MAPE = 3.94071215%

From the three ARIMA model tests, it can be concluded that adding the MA(q) value causes the MAPE value to increase. Subsequent experiments did not use MA(q).

Bijih Nikel tansformasi rounded value +1	Forecasting	Selisih Error	[Selisih Error]	Error^2	%Error	Tahun	bij ih nikel
2.47757	•	*	*	•	•	2001	700740
2.49828	•	•	•	•	•	2002	969689
2.53341	•	•	•	•	•	2003	1702267
2.52248	•	*	•	•	•	2004	1426672
2.50944	2.47144	0.038000	0.038	0.003444	1.514282071	2005	1157657
2.52503	2.46266	0.062367	0.062367	0.003889643	2.469950852	2005	3485442
2.55689	2.59387	0.036983	0.036983	0.001367742	1.446405594	2007	2499935
2.53624	2.63218	0.095942	0.095942	0.009204867	3.782843895	2008	1782356
2.5019	2.45037	0.051529	0.051529	0.002655238	2.05959470B	2009	1026975
2.40424	2.40906	-0.004819	0.004819	2.32228E 05	0.20043756	2010	230870
2.54155	2.25209	0.289455	0.289455	0.083784197	11.38891621	2011	1943383
2.67396	2.92585	0.251894	0.251894	0.063450587	9.420260587	2012	18778406
2.69878	2.9689	0.270124	0.270124	0.072968975	10.00911523	2013	29431004
2.52073	2.48504	0.035694	0.035694	0.001274062	1.416018376	2014	1387140
2.53341	2.01506	0.518343	0.518343	0.268679466	20.4602887	2015	1702267
2.53341	2.70605	0.172643	0.172643	0.029805605	6.81464903	2016	1702267
2.63265	2.75185	-0.119201	0.119201	0.014208878	4.527795187	2017	9043233
2.67808	2.77049	0.092418	0.092418	0.008541087	3.450905126	2018	20220717
2.68749	2.69296	0.005468	0.005468	2.9899E-05	0.203461222	2019	23967146
		Jumlah	2.04488	0.561325469	79.16492435		
			0.136325333	0.037421698	5.277661624		
			MAD	MSE	MAPE		

Table 8: Model ARIMA (2,4,0)

The data is processed from BPS data from Southeast Sulawesi

With the ARIMA model (2,4,0) by using the minitab the researcher gets the Error value:

$$\begin{split} MSE &= 0.136325333 \\ MAD &= 0.037421698 \\ MAPE &= 5.277661624\% \end{split}$$

It can be found that increasing the value of autocorrelation (AR = p) more than 1 increases the value of the percentage error. So from this experiment, it can be found that the ARIMA(p,d,q) model with the smallest error percentage is ARIMA (1,4,0).

F. Winters Method

In the winter's method the researcher gets the smallest error value as follows:

_							
	Forecasting	Selisih Error	[Selisih Error]	Error^2	%Error	Tahun	bijihnikel
Γ	-267216	967956	967956	936938817936	138	2001	700740
Γ	2444113	-1474424	1474424	2173926131776	152	2002	969689
Г	1702267	0	0	0	0	2003	1702267
Γ	1426672	0	0	0	0	2004	1426672
Γ	1157657	0	0	0	0	2005	1157657
Γ	1486442	0	0	0	0	2006	1486442
Γ	2499935	0	0	0	0	2007	2499935
Γ	1782356	0	0	0	0	2008	1782356
F	1026975	0	0	0	0	2009	1026975
Γ	230870	0	0	0	0	2010	230870
Г	1943383	0	0	0	0	2011	1943383
Γ	18778406	0	0	0	0	2012	18778406
Γ	29431004	0	0	0	0	2013	29431004
Γ	1387140	0	0	0	0	2014	1387140
Γ	1702267	0	0	0	0	2015	1702267
Γ	1702267	0	0	0	0	2016	1702267
Γ	9043233	0	0	0	0	2017	9043233
Γ	20220717	0	0	0	0	2018	20220717
Γ	23967146	0	0	0	0	2019	23967146
Γ		Jumlah	2442380	3110864949712	290		
			128546.3158	1.6373E+11	15.27287508		
			MAD	MSE	MAPE		

Table 9: Model Winter's Method (1,1,1)

The data is processed from BPS data from Southeast Sulawesi

From these experiments to determine the model (a, β , γ). The researcher found that changing the value of on the minitab did not affect the error percentage. However, in this model the smallest MAPE obtained is 15.27%.

G. Discussion & Suggestions on the results of ESDM data research

From the results of experiments conducted by the author, it was found that the most accurate forecasting for nickel ore production data is the ARIMA forecasting method. The results obtained from nickel ore forecasts that there will be a decline after 2020. This is not a good thing for the government's plan to increase electric battery vehicles that use nickel.

Nickel is an important metal element in the battery cell components used for electric cars. For the manufacture of batteries, three main raw materials are needed, namely nickel, lithium and cobalt. For nickel, Indonesia controls 30 percent. Compared to some other countries. The decline in nickel production was due to the excavation that was exhausted in 2018 and 2019 resulting in production of 20,219,885/ton & 23,967,427/ton. Therefore, to stabilize nickel ore production,

it is necessary to control nickel ore production targets so that production and demand for nickel are not unequal but should be statistically parallel.



Fig. 6: Autocorrelation of Nickel Ore Production Data

The ARIMA model used is ARIMA p = 1, d = 4 and q = 0, in Figure 3.5 this is in accordance with the autocorrelation which gets 1 lag touching the significant limit line. This proves the value of P = 1, and d = 4 of the number of transformations from the nickel ore production data.

IV. SUGGESTIONS AND CONCLUSIONS

A. Conclusions

In this last chapter, the researcher presents the conclusions from the research findings.

1. Forecasting using the ARIMA time series method, get the error values (MAPE, MSE, MAD) as follows MAD = 0.101526067

MAD = 0.101320007MSE = 0.022080773MAPE = 3.940710675%

2. The Winter's method model with the smallest error percentage is a = 1, $\beta = 1$, $\gamma = 1$. With an error percentage value of 15.27%. Here are MAD, MSE and MAPE

MAD = 128546.3MSE = 1.64E+11MAPE = 15.27288

3. Analysis of Missing data for nickel ore production in 2015 and 2016 was 1,702,267/ton, representing the median result of nickel production data from 2001 to 2019.

B. Suggestions

The author's suggestion is to make observations on other variables that affect the rise and fall of nickel ore production.

REFERENCES

- U. S. Utara, "Universitas Sumatera Utara 4," pp. 4–16, 2003.
- [2.] P. B. Tarigan, "Bab Ii TinjauanPustakaKehamilan," J. Kebidanan, vol. 53, no. 9, pp. 1689–1699, 2017.

- [3.] A. Chuang and W. W. S. Wei, "Time Series Analysis: Univariate and Multivariate Methods," Technometrics, vol. 33, no. 1. p. 108, 1991, doi: 10.2307/1269015.
- [4.] B. A. B. Ii and K. Pustaka, "Universitas Internasional Batam," pp. 7–31, 2010.
- [5.] M. S. Eff and A. Hendrawan, "FORCASTING MODEL EXSPONENSIAL SMOOTHING TIME SERIES RATA RATA MECHANICAL AVAILABILITY UNIT OFF HIGHWAY TRUCK CAT 777D CATERPILLAR," vol. 8, no. 1, 2016.
- [6.] H. Tanuwijaya, "Penerapan Metode Winter' S Exponential Smoothing Dan Single Moving Average Dalam Sistem Informasi," Semin. Nas. Manaj. Teknol. XI, pp. 1–10, 2010.
- [7.] Hadijah, "Minitab Menggunakan Pendekatan Arima," no. 40, pp. 13–19, 2013.
- [8.] C. Foroni, M. Marcellino, and D. Stevanovic, "Forecasting the Covid-19 recession and recovery: Lessons from the financial crisis," Int. J. Forecast., no. xxxx, 2021, doi: 10.1016/j.ijforecast.2020.12.005.
- [9.] W. D. Larson and T. M. Sinclair, "Nowcasting unemployment insurance claims in the time of COVID-19," Int. J. Forecast., no. xxxx, 2021, doi: 10.1016/j.ijforecast.2021.01.001.
- [10.] S. Makridakis, R. J. Hyndman, and F. Petropoulos, "Forecasting in social settings: The state of the art," Int. J. Forecast., vol. 36, no. 1, pp. 15–28, 2020, doi: 10.1016/j.ijforecast.2019.05.011.
- [11.] R. Weron, "Electricity price forecasting: A review of the state-of-the-art with a look into the future," Int. J. Forecast., vol. 30, no. 4, pp. 1030–1081, 2014, doi: 10.1016/j.ijforecast.2014.08.008.
- [12.] K. Singh et al., "Implementation of Exponential Smoothing for Forecasting Time Series Data," Int. J. Sci. Res. Comput. Sci. Appl. Manag. Stud., vol. 8, no. 1, 2019.
- [13.] F. Audrino, F. Sigrist, and D. Ballinari, "The impact of sentiment and attention measures on stock market volatility," Int. J. Forecast., vol. 36, no. 2, pp. 334–357, 2020, doi: 10.1016/j.ijforecast.2019.05.010.
- [14.] P. Pinson and S. Makridakis, "Pandemics and forecasting: The way forward through the Taleb-Ioannidis debate," Int. J. Forecast., no. xxxx, pp. 8–10, 2020, doi: 10.1016/j.ijforecast.2020.08.007.
- [15.] D. Salinas, V. Flunkert, J. Gasthaus, and T. Januschowski, "DeepAR: Probabilistic forecasting with autoregressive recurrent networks," Int. J. Forecast., vol. 36, no. 3, pp. 1181–1191, 2020, doi: 10.1016/j.ijforecast.2019.07.001.
- [16.] J. P. A. Ioannidis, S. Cripps, and M. A. Tanner, "Forecasting for COVID-19 has failed," Int. J. Forecast., no. xxxx, 2020, doi: 10.1016/j.ijforecast.2020.08.004.
- [17.] N. N. Taleb, Y. Bar-Yam, and P. Cirillo, "On single point forecasts for fat-tailed variables," Int. J. Forecast., no. xxxx, 2020, doi: 10.1016/j.ijforecast.2020.08.008.
- [18.] J. A. Doornik, J. L. Castle, and D. F. Hendry, "Shortterm forecasting of the coronavirus pandemic," Int. J. Forecast., no. xxxx, 2020, doi: 10.1016/j.ijforecast.2020.09.003.

- [19.] M. A. Achterberg, B. Prasse, L. Ma, S. Trajanovski, M. Kitsak, and P. Van Mieghem, "Comparing the accuracy of several network-based COVID-19 prediction algorithms," Int. J. Forecast., no. xxxx, 2020, doi: 10.1016/j.ijforecast.2020.10.001.
- [20.] F. Petropoulos, S. Makridakis, and N. Stylianou, "COVID-19: Forecasting confirmed cases and deaths with a simple time series model," Int. J. Forecast., no. xxxx, 2020, doi: 10.1016/j.ijforecast.2020.11.010.
- [21.] P. Nystrup, E. Lindström, J. K. Møller, and H. Madsen, "Dimensionality reduction in forecasting with temporal hierarchies," Int. J. Forecast., vol. 37, no. 3, pp. 1127– 1146, 2021, doi: 10.1016/j.ijforecast.2020.12.003.
- [22.] F. Blasques, M. H. Hoogerkamp, S. J. Koopman, and I. van de Werve, "Dynamic factor models with clustered loadings: Forecasting education flows using unemployment data," Int. J. Forecast., no. xxxx, 2021, doi: 10.1016/j.ijforecast.2021.01.026.
- [23.] S. Madelan, "Optimalisasi Ekspor Produk Ekonomi Kreatif Indonesia Menuju Peningkatan Dayasaing," Bus. Econ. Commun. Soc. Sci. J., vol. 2, no. 3, pp. 273– 284, 2020, doi: 10.21512/becossjournal.v2i3.6658.
- [24.] Kamari and M. Sugiyono, "Analisisdan Pengukuran Nilai Overall Equipment Effectiveness sebagai Langkah Peningkatan Efektivitas Mesin Coal Crusher PT. Multi Harapan Utama. e-ISSN: 2686-255," Manaj. Dan Bisnis, vol. 4, no. 3, pp. 20–38, 2020, [Online]. Available: https://publikasi.mercubuana.ac.id/index.php/indikator/a

rticle/view/10009.

- [25.] D. Sinaga, S. Madelan, and A. B. Saluy, "Analysis Supply Chain Management Performance Using SCOR Method in Compressor Distributor Company at PT .Pola Petro Development," Int. J. Innov. Sci. Res. Technol. ISSN No-2456-2165, vol. 6, no. 2, pp. 91–102, 2021.
- [26.] C. H. K. Pasaribu, S. Madelan, and A. B. Saluy, "Single and Multifactor Productivity Analysis of Manual and Automatic Machines at Powder Coating Company PT . TKM in Bekasi," vol. 6, no. 2, pp. 518–524, 2021.
- [27.] A. Saifudin, M. H. Aima, A. H. Sutawijaya, and Sugiyono, "Effect of Using Amo Theory on Ghrm on Service Quality With Ocbe As Mediation in the Pandemic Time of Covid-19 in Indonesia, Soe Hospital," PalArch's J. Archaeol. Egypt/ Egyptol., vol. 17, no. 6, pp. 5755–5775, 2020.
- [28.] K. Auliasari, M. Kertaningtyas, and M. Kriswantono, "Penerapan Metode Peramalanuntuk Identifikasi Permintaan Konsumen," INFORMAL Informatics J., vol. 4, no. 3, p. 121, 2020, doi: 10.19184/isj.v4i3.14615.
- [29.] [29] S. Wardah, "Analisis Peramalan Penjualan Produk Keripik Pisang," no. 0615040007, 2016.
- [30.] A. Lusiana and P. Yuliarty, "PENERAPAN METODE PERAMALAN (FORECASTING) PADA PERMINTAAN ATAP di PT X," Ind. Inov. J. Tek. Ind., vol. 10, no. 1, pp. 11–20, 2020, doi: 10.36040/industri.v10i1.2530.
- [31.] Iwan, E. R. Iviq, and A. Yulianto, "Analisa Peramalan Permintaan Mobil Mitsubishi Xpanderdengan Tiga Metode Forecasting," J. Hum., vol. 18, no. 2, pp. 249–

256, 2018, [Online]. Available: doi: https://doi.org/10.31294/jc.v18i2.

- [32.] D. R. Indah and E. Rahmadani, "Sistem Forecasting Perencanaan Produksidengan Metode Single Eksponensial Smoothing pada Keripik Singkong Srikandi Di Kota Langsa," J. Penelit. Ekon. Akutansi, vol. 2, no. 1, pp. 10–18, 2018.
- [33.] Widiyarini, "Penggunaan Metode Peramalandalam Produksi Kayuuntuk Penentuan Total Permintaan (Konsumen)," Sosio-e-kons, vol. 8, no. 1, pp. 54–61, 2016.
- [34.] E. Setyawan, R. Subantoro, and R. Prabowo, "ANALISIS PERAMALAN (Forecasting) PRODUKSI KARET (Hevea Brasiliensis) DI PT PERKEBUNAN NUSANTARA IX KEBUN SUKAMANGLI KABUPATEN KENDAL," vol. VOL. 12., no. 2, pp. 11–19, 2016.
- [35.] F. Ahmad, "PENENTUAN METODE PERAMALAN PADA PRODUKSI PART NEW GRANADA BOWL ST Di PT. X Determine the actual and actual production plan is the main thing for the organization to avoid large losses in calculating the amount of production, PT. This research is to det," J. Integr. Sist. Ind., vol. 7, no. 1, pp. 31–39, 2020.
- [36.] Reshynta Veronica, "Peramalan Jumlah Pengunjung Jawa Timur Park I Menggunakan Arima Box-Jenkins," J. Skripsi, 2015.
- [37.] S. V. Setiadi, "Pengaruh Faktor-Faktor Motivasi Terhadap Minat Berwirausaha Mahasiswa Program Studi Manajemen Fakultas Ekonomi Dan Bisnis Unika Soegijapranata Semarang," pp. 15–22, 2019, [Online]. Available: http://eprints.ums.ac.id/id/eprint/84613.
- [38.] M. B. Pamungkas, "Aplikasi Metode Arima Box-Jenkins Untuk Meramalkan Kasus Dbd Di Provinsi Jawa Timur," Indones. J. Public Heal., vol. 13, no. 2, p. 183, 2019, doi: 10.20473/ijph.v13i2.2018.183-196.
- [39.] M. Huang et al., "Analisis Deret Waktu," J. Clean. Prod., vol. 209, no. January, pp. 134–145, 2016.
- [40.] P. J. Kristianti, "PENERAPAN METODE HOLT-WINTERS UNTUK THE APPLICATIONS OF HOLT-WINTERS METHOD IN FORECASTING OF THE INFLATION LEVEL IN," 2020.